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HERRE SHI64E BN BB AL BB EE(-12m)7 - BUE T
£ b 3R - Mk Tik Bifig #H = i ® % " E

BEiEIEE 121, 446, 804

BEE(-12m) & — U BlE 121, 446, 804

AEI[r—v =] 121, 446, 804

r—y BT 121, 446, 804

EE 393, 120

1 L—24 0 T85% BE  t =bcm 480. 00 819 393, 120
m2

25 8,174,004

2 SMEPHE R IHER 1, 740. 00 2,639 4,591, 860
m2

3 NRBIHZE 1,728.00 2,073 3,582, 144
m2

3] 45,827, 336

4 $REFANTAAST (1) SD345 D13 45, 634. 00 205 9, 354, 970
kg

5 $kAFANTHASL (2) SD345 D16 14, 342. 00 203 2,911,426
kg

6 &m0 THENL (3) SD345 D19 28, 618. 00 203 5, 809, 454
kg

7 S AN TAENL (4) SD345 D22 52, 024. 00 203 10, 560, 872
kg

8 & mrhnTHAsL (5) SD345 D25 46, 378. 00 203 9,414,734
kg

9 Bk - m/N\— D76 48.00 150, 000 7, 200, 000
PN

10 FR8kAR - A/ \—# 6, 840. 00 83 567, 720
kg

1 BKAMEE VP-75 1.00 8,160 8,160
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B 33,120, 248
12 RSB H4A ST 4R 5 5, 606. 00 5,908 33,120, 248
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avyy—+k 33,932, 096
13 avy)— TR 30-12-20 W/C50%LATF 1,228.00 27,632 33,932, 096

m3
HiBREE FEL) 1,339, 627
HiBRER 1,339, 627
HEREE 1,339, 627
EiRE 1,239, 627
EEREmEREEER 1,239, 627
14 5> fRHESLENR ya—39L— 5t/ 1.00 1,239, 627 1,239, 627
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KifgHE 100, 000
HitrEE 100, 000
15 MEISESERETMAE 1.00 100, 000 100, 000
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EREIEE 121, 446, 804
MEIEE 9,658,732 + 30,809, 800 40, 468, 532
HERERE GDH 1,339,627 + 7,602,569 + 716,536 9,658, 732
HBRBE (FEL) 1,339, 627
HBERER (R) 121,446,804 x 6.26% ((4.64% x1.00 +1.50% x 1.02) 7,602, 569
ReRnyEs 121, 446,804 x 0.59% 716, 536
Regng 131,105,536 x 23.50% ((21.58% +1.24%) x 1.03) 30, 809, 800
T=Rfl 121,446,804 + 40, 468, 532 161,915, 336
—REEES 161,915,336 x 16.06% (16.06% x 1.00) — 3,704 25,999, 898
KRR HE 161,915,336 x 0. 04% 64, 766
T &l 161,915,336 + 25,999 898 + 64,766 187, 980, 000
HEREELE 187,980,000 x 10.00% 18, 798, 000
HATRE 187,980,000 + 18,798, 000 206, 778, 000
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m 2 100. 00 1,854.00 185, 400
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=] 0.30 73,010. 00 21,903 8H
& it YE%855 : 100.00m 2 2,073.00 207, 303




Rifiz -/ \v7r—o

HH6EF BN A ARG IUM K) R B (-12m) -V U BUE TS

&5 4
2 $kERM T AL (1) SD345 D13 1000k g Y
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k g 1,030. 00 112.00 115, 360
SIS (r— D E1E) yL—rtkE
k g 1,000. 00 75. 60 75, 600
yR—59 L—r GhEERER) 55t &
B 0.20 73,010. 00 14,602 8H
& Hi YEZHeH : 1,000.00k g 205. 00 205, 562
&5 :5
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2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D16
k g 1,030. 00 110. 00 113, 300
SIS (r— D 81E) yL—rtkE
k g 1,000. 00 75. 60 75, 600
yR—59 L—r GhEERER) 55t &
B 0.20 73,010. 00 14,602 8H
& Hi YEZHeH : 1,000.00k g 203. 00 203, 502
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SIS (r— D E1E) yL—rtkE
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& Hi YEZERESN - 1,000.00k g 203. 00 203, 502
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2 b g - BIRTE By = B O %8 # " =
% (2 SD345 D25
k g ,030. 00 110. 00 113, 300
SIS (r— D 81E) yL—rtkE
k g ,000. 00 75. 60 75, 600
yR—59 L—r GhEERER) 55t &
B 0.20 73,010. 00 14,602 8H
& Hi YEZERESN - 1,000.00k g 203. 00 203, 502
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%5 BEkEH - B/N\— D76 1Ry
2 b g - BIRTE By = B O %8 # " =
REkRH - m/A— R D76mm L=3.75m (NHT690)
ZN 1.00 150, 000. 00 150, 000
& Hi 1E%HERN - 1. 00K 150, 000. 00 150, 000
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k g 1,000. 00 69. 30 69, 300
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B 0.20 73,010. 00 14,602 8H
& Hi YEZHeH : 1,000.00k g 83.00 83, 902
&5 11
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2 b g - BIRTE BT H = B O %8 # " =
BEELEEZILE (—HBE) VP—75
m 8.00 1,020. 00 8,160
& Hi 1E%HeH - 1.00K 8, 160. 00 8,160
BE .12
75 SRBRAAT N 100m2 %Y
2 b g - BIRTE BT H = B O %8 # " =
BRI AT AR S (r— Y D BE) yL—rtkE
m2 100. 00 5,616.00 561, 600
yR—59 L—r GhEERER) 55t &
B 0. 40 73,010. 00 29, 204 |8H
& Hi YEZERES : 100.00m 2 5,908. 00 590, 804
ES .13
& arvy)—iTER 30-12-20 W/C50%LLTF 10m3%HY
2 b g - BIRTE BT #H = B Ol %8 # " =
LT« 3HX vy y—F 30N-12cm-20mm (Z%F) W/C=50%
m3 10.10 23, 200. 00 234, 320
a2 )— MTHR (G —Y 2 8E) Ry TE
m3 10. 00 4, 200. 00 42,000
& Hi 1E%HESH - 10.00m 3 217,632.00 2176, 320
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B HEMEIER YR—5 L—155tH 1LY
2 b g - BIRTE By = B O %8 # " =
STFL—29L—r A AR ER) GhE i I8 25t R
B 1.50 56, 200. 00 84, 300 8H
HIRIEXS
A 5.50 26, 880. 00 147, 840
EfREEE 2E0%
% 434.00 232, 140. 00 1,007, 487
& Hi 1YE%HeH - 1.00K 1, 239, 627. 00 1,239, 627
&5 .15
&% MEBEISESEREIRARE 1LY
2 b g - BIRTE By = B O %8 # " =
BiEIEESHREIRAET
= 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 100, 000. 00 100, 000




